
{r.,e 90\q -De" 8D\q
VEff{I]E]LE ]tvNAflts{j ITE INCE IqIECOE'TD

DRflVER,: TRuelK #l1g.o
&

NJQfiTHERII LlGilfs

SP|CIALIZED, LLC

flNSFECTj@N REC@RD .

[r]lL D {rT1(]!\l 0F WOi1.l

,, l,a

q

rl5t I RU.]I( EASED
("/60-

1

Gtec,cgI r6 ire,r} axt* Al;"v-n"nl
frrerr.s-e v

@

lo \ I

0"r+a*,
e

i
rdil

\e

H^rn Ei \lerg
6ceae--

.. ":"t ' ,t:' '.

t-_

t-

1

I

t--
l-

I

l

I'
i

I

it
- -- i '- - t

e)i ffi
;.r6{{:-firl.s"-

I

l ka.Vc,3



EilnI] LE I\IIAIIN_TEINCE IRECORD

DRIVER: TRUEK # 13b
VEAN & IVIA!{E VIF3 ii tle PLATE : zi TlnE slZL

NORIHI RN LIGHTs

SPfCIALIlED, LtC

DATE I D P1',t

I,1S TRUCK EASE

I \6
qo I 6i\ cknnae.

-C-r<t^.*<--".a lq cYz@..
Yb (.^Jr

fot-eaB<-
co n''\ O)nr^na-c...

 _-S'
.*eb,a.<-

fil d-x<.c-.&-

\/b C-xe,a--,2-
toI &.cts<-

q /sr cir\ chc..r.c,-(.
\J

,9c?t\_6-<-

?zl\+<rias
-1Io

\\
t-r1,ra\iha \la \. r-<-

Lxa.s?,
{rut lt- €lrfel cjn +r.1
C*-a^-e
frr,\a\r. \iQl a.-:"t"e-

lelq--l

fvflfi i?gftfl, r,€iirs sFE rle tlJil?4:ryl
lZX 39ti1Efi9

ryCIfr,1
F,qlt4?223.225"fi4 frut. rt.5

Ton,,,"",g Dece^ Oer 9OAO

D

I

1 L



VALLEY FAB & REPAIR,INC.
TEL: 218-643-6609 FAX: 218-641 -6630
www.val leyfabandrepair. com
8OO BUFFALO AVE SUITE A

Invoice
X

Date lnvoice #

12/4t2020 4356/\

Bill To

NORTHERN LIGHTS SPECIALIZED LLC
47221 225TH AvE.
STAPLES. MN 56479

Ship To

NORTHERN LICHTS SPECIALIZED LLC
47221 225TH AVE.
STAPLES. MN 56479

P.O. Number Terms Rep

I)ue on receipt I}P 12t412020

Quantity Item Code Description Price Each Amount

29
82
22

4
133

8
8

33
9
5

135

2
a

24
6
2
I

t2
46

I

I

t/2x 1-U2 FRAME 8O...
5/8X2FRAMEBOLTS
5/8 X 2.5 FRAME BOLTS
5/8X3FRAMEBOLTS
5/8 NUT
1/2 X l-l/2 FRAME 8O...
I/2 NUT
I/4 AIRLINE
3/8 AIRLTNE
5/8 AIRLINE
EI_841450

AL9I9804 ( ABS CABL...
MOD EXTN CABLE

6.5-53-r7l (S Fl l7)
20-74-91 (57342 )
230123-6
cB66l (5003323X S 188

71893-4
90660
90661

90663
l0-3/4 0D x 5/16 GRD
l0 0D x 5/16 GR 50 IN
5-676X (S C474)

6.5-28-l 17 (S 7455)

*** STRITCH TRUCK VIN: lXP5DB9X23D589490*'*

l/2 x r-ll2 FRAME BOLT (FLANGE BOLT)
5/8 X 2 FRAME BOLT (FLANGE BOLT)
5/8 X 2.5 FRAME BOLT (FLANGE BOLT)
5/8 X 3 FRAME BOLT (FLANGE BOLT)
5/8 FRAME NUT (FLANGE NUT)
l/2 x I -ll2 FRAME BOLT (FLANGE BOLT)
I/2 FRAME NUT (FLANGE NUT)
I/4" AIRLINE PRICED PER FT.
3/8'AIRLTNE PzuCED PER FT.
5/8 AIRLINE PRICED PER FT.
14 CA - 4 WIRE TRAILER CABLE PRICED PER FT.
ABS CABLE 4'EXTENSION
MOD EXTN CABLE. PART # 5,1494250300 MEzuTOR
SOLD PER EACH.
I4-I6 GA BLUE BUTI CONNECTORS
I/4 UNION
3/8 UNION
5/8 UNION
IO-3/4 OD X 5/16 GRD 50 PRICED PER FT
IO OD X 5/16 GR5O PRICED PER FT
ISIO I/2 RD U.JOTNT
5-6'76X
I8IO MIDSHIP STUB SHAFT 6.5-53-I7I
LOCK NUTS
WASHER
I760lI810/I7IO HD CENTER BEARING CB66I
(5003323)
l8l0 WELD YOKE 6.5-28-l l7 98 4')

0.42
3.44
2.45
5.63

25.25
24.50
66.55

162.60
4.74
3.02

69.18

15.3 7T
106.607
30.587

6.887
86.457
4.247
3.527

16.507
8. t9T

2t.207
175.501'
14.047

125.727

t0.087
20.647
4.907
5.637

303.007
1, t27.007

66.557

162.607
4.747
3.027

69.187

98.491'

Make all checks payable to Valley Fab & Repair
Thank you for your business!! Total

Payments/Gred its Balance Due

Page 1

Due Date

b

0.53
t.30
1.39
1.72

0.65
0.53
0.44
0.50
0.91
4.24
1.30

37.02
62.86



VALLEY FAB & REPAIR, INC.
TEL: 218-643-6609 FAX: 218-641-6630
www.valleyfabandrepair.com
8OO BUFFALO AVE SUITE A

Invoice

Date lnvoice #

4356A

Bill To

NORTHERN LIGHTS SPECIALIZED LLC
47221 225TH AYE.
STAPLES. MN 56479

Ship To

NORTHERN LIGHTS SPECIALIZED I,I-C
4'7221 225rH AvE.
STAPLES. MN 56479

P.O. Number Terms Rep

I)uc on receipt 12t4t2020

Quantity Item Code Description Price Each Amount

.19
I

t6
l6

I
I
2
2

I

4
4

3.07
4
4
4
1

I
I
I

3.01
I
3

0.042
8

65

6.54-3591- l (S 84] l )
N36-30-102

99783 0R 39604 0R 39.
5/8 U BOLT WASHERS
NON-INV EXP
99056 0R 99487
99742 0R 500002
99722 0R 39121
99032 0R MP9903 t

9978i OR 39602 0R 39.
99',721 0R 39726
99741 OR 500001
NON-INV EXP
NTruSED PART
LT GREY PRIMDR
4X8X5/16SHEETM.
99157 0R D39157
NT/STRETCH

5/8X2FRAMEBOLTS
5/8 NUT
ATC.20
46021
71a94
7 ta93-4
8A000452

****INSTAl.l. LtFT AXLF*t*
5/8 X 2 FRAME BOI,T (FI-ANGE BOLT)
5/8 FRAME NUT (T;LANGE NUT)
ATC-20 - BLADE TYPE 2OAMP FLST,
4602I FUSE HOLDERS - 20 AMP
IO-I2 GA YET,[,OW BUTT CONNECTORS
14.16 CA BLT]E BUTT CONNECTORS
SUSPENSION.I,IFTABLE, DURAMAX( 7 I D)DROP
CENTER AXI,E NON.S'IEERABLE. WITH MOL'NT.
HUB AIR CONTROL KTT

18l0 l/2 ROLND END YOKX-FINE 6.5-4-3591-l
IS IO DRIVESHAFT TUBING 4.59 X .I80 WALL
PRICED PER INCH
7/16 HEX NUT
5/8 U BOLT WASHERS
BOLTS
3/8 X I-I/2 HEX HEAD BOLT
3/8 FLAT WASHER
3/8 LOCK WASHER
5I16X I-I/2 HEX HEAD BOLT
5/16 HEX NUT
5/I6 LOCK WASHER
5/I6 FLAT WASHER
BOLTS
CROSSMEMBER
FLAT LT GREY PRIMER PER CAN
4 X 8X 5/16 SHEET METAL PRICED PER SHEET
5/8 X 4 HEX IIIJAD BOLT
STRETCH TRUCK FRAME

143.64
5.22

0.t5
0.70

3.99023
0.26
0.06
0.07
0.21
0.08
0.06
0.04

3.99023
175.00

7.82
568.82

2.22
80.00

1.30
0.65
2.48
4.25
0.57
0.42

3.950.00

t41.64',t'
255.781

0.607
2.807

12.257
r.047
0.247
0.287
0.217
0.087
0.067
0.047

12.257
175.00
23.467
23.897
17.76',1'

5,200.00

20.807
t0.407
2.487
4.257
l.l4T
0.847

3,950.007

Make all checks payable to Valley Fab & Repair
Thank you for your business!! Total

Payments/Cred its Balance Due

Page 2

I l2t4t2o2o

Due Date 
I

IBP

I

I



VALLEY FAB & REPAIR,INC.
TEL: 218-643-6609 FAX: 218-641 -6630
www.valleyfabandrepair.com
8OO BUFFALO AVE SUITE A

Invoice

Date lnvoice #

4356,4

Bill To

NORTHERN LIGHTS SPECIALIZED LLC
4',7221 225TH AVt-..
STAPLES, MN 56479

Ship To

N()R'IHERN LIGII'I'S SPECIAI-IZED LLC
4',7221 225TH AVta..

STAPI,F]S. MN 56479

P.O. Number Terms Rep Due Date

Duc on receipt I}P 1214t2020

Quantity Item Code Description Amount

t0

I

2

2

I
2.75

0.025

t8
l8

1

l8
,,

2

2

4
4
2

2
0.8333

NTiMECti

NON-INV EXP
ANVIL 0320200033 l/2"

B38W

t5-120
lx8
4X8X3/8SHEETME.
90666
90669
90705
90704
90688
I/2 AIRLINII
5/8 AIRLINE
13372
7 wire (6/12 & l/10)
99008 0R D39008 0R ..

99780 0R 39601 OR 39.
99740 0R 500000
3/4 X 2-t12 FRAME BO
3/4 NUT
99178 0R C703521
99747 ()R 500207
3/4 NU't'
2X2SOLIDSQUARE

INSTAI,I,I]D LIFT AXI,I]

r**PINTEL PLATE*+*
PH30 pintle hook 30 ton
I/2" MERCHANT COIJPLING SCH 40 PRICED PER
EACH
D-RING, I/2" X 2-3i8" WITH WELD ON BRACKET.
SOLD PER EACH.
7 PIN CONNECTOR,iRECEPTACLE I5.720
I X 8 FLAT PRICED PER FT.
4 X 8 X 3/8 SHEET METAI- PRICED PER SHEET
3/8 LTNION TEE
I/2 UNION TEE
5/8 X I/2 MALE ELBOW-9o DECRET.
I/2 X I/2 MAIE ELBOW.gO DECREE
I/2 X I/2 MALE CONNECTOR
I/2' AIRLINE PRICED PER FT.
5/8 AIRLINE PRICED PER FT.
I/2 SQUARE HEAD PLUG
7 WrRE (6/12 & l/10). SOLD PER FOOT.
I/4 X 2 HEX HEAD BOLT
I/4 HEX NUT
I/4 FLAT WASHER
3/4 X 2-Il2 FRAME BOLT (FLANGE BOLT)
3/4 FRAME NUT (FLANGE NUT)
3i4 X 3-I/2 HEX HEAD BOLT
3/4 FLAT WASHER
3/4 FRAME NUT (FLANGE NUT)
2 X 2 SOLID SQUARE PRICED PER F't"

90.00

6.7 6

10.20
31.82

549.15
4.36
7.10
4.84
3.92
2.85
0.97
4.24
0.53
2.50
0.20
0.07
0.06
1.39
0.70
2.05
0.22
0.70

t 7.81

900.00

93.807
5.467

13.527

10.207
87.517
13.737
4.367
7.107
4.847
3.92'l
2.857

t'7.467
76.327

1.067
45.007

0.407
0.147
0.127
5.567
2.80'r
4.107
0.447
1.407

14.847

Make all checks payable to Valley Fab & Repair
Thank you for your business!! Total

Payments/Cred its Balance Due

Page 3

I t2t4t202o

I

I

Price Each
I

I

I

I

I

93.80
2.13

I

I
I



VALLEY FAB & REPAIR, INC.
TEL: 218-643-6609 FAX: 218-641 -6630
www.val leyfabandrepair.com
8OO BUFFALO AVE SUITE A

Invoice

Date lnvoice #

1356A

Bill To Ship To

NORTHERN LICHTS SPECIALIZED LLC
41221 225TH AvE.
STAPLES. MN 56479

P.O. Number Terms Rep Due Date

I)ue on receipt BP 12t412020

Quantity Item Code Description Price Each Amount

I

10

2

2

4
I

2
5

I

24
0.49

6
6
6
2
2
2
8
8
I
5

2.666
I

l/4X6
Nt /wtLI)tNG

99153 ()R D39153 0R
99 t55 0R D39155
5/8 NTJT
NON.INV EXP
NON.INV EXP
NT/WELDING

4 X 8 X,I25 TREAD I]

I X I X I/8ALUM
NON.INV EXP
9978t OR 39602 ()R 39
99741 OR 500001
99',721 OR 39726
1t4X2
3/8 X 3/4 HEX HEAD
3/8X I HEX HEAD
3/8 I-'LAT WASHER
3/8 NU'I
NON.INV EXP
NT/WELDING

4x4X5/16
NON.INV EXP

3/4 X 6 FLAT PRICED PER FT.
BUILD AND INSTALL PIN'I'E]L PLATE AND FRONT
HITCH

**FENDERST'i

5/8 X 3 HEX HEAD BOLT
5/8 X 3-Il2 HEX HEAD BOLT
5/8 FRAME NT]T (FLANGI.] NI.]T)
HB-2706 FENDERS
3O4SS FI,USH MT TRI ARM
INSTAIL AND MOUNT FENDF]RS

t**DECK PLATE***
4 X 8 X.I25 TREAD BRITE METAL PRICED PER
SHEET
I X I X I/8 ALUM SQ TUBE PRICED PER FT.
CARRIAGE BOLTS
5/I6 HEX NUT
5/I6 FLAT WASHER
5/I6 LOCK WASHER
I/4 X 2 FLAT PRICED PER FT.
3/8 X 3/4 HEX HEAD BOLT
3/8XIHEXHEAD
3/8 FI,AT WASHER
3/8 NUT
STAINLESS STEEL BOLTS
BUILD AND INSTAL DECK PLATE
***5TH WHEFL PLATE***
4 x 4 X 5/16 ANCLE IRON PRICED PER FOOT
5TH WHEEL PLATE

12.14
90.00

1.38
0.98
0.65

648.6',7

235.08
90.00

482.78

5.28583
4.00
0.08
0.04
0.06
1.48
0.86
0.82
0.36
0.13

17.75
90.00

9.28
325.00

t2.141'
900.00

2.',?67

1.967
2.607

648.677
470-t6T
450.00

482.78r.

126.867
1.967
0.487
0.247
0.367
2.96'.r
1.127
1.647
2.887
1.047

17.75',1'

450.00

24.147
325.007

Make all checks payable to Valley Fab & Repair
Thank you for your business!! Tota!

Balance Due

Page 4

I I

I

t2t4/2020

lronrgenr LTGHTS spECIALIzED LLC.
I nzzt zlsrlp wr,.

I 
srnrles, vr.r so+zs

II

I

I

I

I

I

I

Payments/Cred its



VALLEY FAB & REPAIR.INC.
TEL: 218-643-6609 FAX: 218-641 -6630
www.valleyfabandrepair.com
8OO BUFFALO AVE SUITE A

lnvoice

Date lnvoice #

t2l4t202t) ,1356A

Bill To

NORTHERN LIGH'TS SPECIALIZED LLC
4',7221 225TH AVE.
STAPLES, MN 56479

Ship To

NORTHERN LIGHTS SPECIAIIZED LLC
47221 225TH AVE.
S'[.APT,ES. MN 56479

P.O. Number Terms Rep Due Date

Duc on rcccipt I]P

Quantity Item Code Description Price Each Amount

l8
6

6

7

3

2.833
6
6
2
,

4.5

3 01
8
6

5/8X2FRAMT]BOLTS
5/8 X 2,5 T'RAME BOLTS
5/8 NUT
NT/W ,DIN(J

3/8X3
v4x4
l0-l/4 0D x 5/16 GR50
5/8X2FRAMEBOLTS
5/8 NUT
I/2X2FRAMEBOLTS
I/2 NUT
NT/WELDING
NT/SHOP SIJPPI,IES
NON.INV EXP
NON.INV EXP
NON-INV EXP

5/8 X 2 FRAME BOLT (FLANGE BOLT)
5/8 X 2,5 FRAME BOLT (FLANCE BOLT)
5i8 FRAME NUT (FLANGE NUT)
INSTALL 5TH WHEEL PLATE
*+rRGW tu{MPS*'r, 'r,

3/8 X 3 FLAT PRICED PER FT.
I/4 X 4 FLAT PRICED PER FT.
IO-I/4 OD X 5/I6 GR. 50 PRICED PER FT
5/8 X 2 FRAME BOLT (FLANGE BOLT)
5/8 FRAME NUT (FLANGE NUT)
I/2 X 2 FRAME BOLT (FLANGE BOI,T)
Ii2 FRAME NUT (FLANGE NUl)
BUILD AND INSTALL RAMPS
SHOP SUPPLIES
BOLTS
FUEL TANK STRAP RUBBER
POLISHED RIMS
Sales 'l ax

1.30
r.39
0.65

90.00

32.207
9.037

11.537
7.807
3.901'
1.567
0.887

405.00
200.00

12.257
t56.521'
450.007
713. | 8

Make all checks payable to Valley Fab & Repair
Thank you for your business!! TOtal $20.306.73

Payments/Credits $0.00 Balance Due $20J06.73

Page 5

12t4t2o2o 
I

I

I

I

I
I

I

c.eo I

-r.or I

25.2s I

1.30 |

o.rs I

ozrI
0.441

so.oo I

zoo oo I

3.eeo23 
|

t9565 I

zs.oo I

t 875"u. I

I

I

I

21.4or I

t.:+r I

rs.ror I

s+o.oo I

I

I

I
I



$.11r*r* 6C8t - Dere,"oer &et
VE[+I]CLE lr\fiAlN'T

DRrl\ltEF( : TR!=,cK r* -TZb
I Ll]ltll s iz[: li0i.rl

NOfiTHE RN LIGH'i5

SPICIALIZED, LLC

,J;.111 ,...,-i-
tsATE OrnOnilrrem L[,BE

TRUCK EASEDl

'lgna/ro-' 6.

trIe- Co<c,ageot
ll rq C*<n*<ot

Far,. - o\.^!c-\.,.b[G-'
Gh:- Orcc,ecA &i'te,a

Cz,<<.r.ataL
1 o,\ Orr.n+r

C,(€ogt- --- - .-g \z &\ianrncn\
2rMt r,r.I t 

^. 
x". AaJvr.f

6<eoe,<-
Gcc,cc-o.
6r\ Ckranae-\o rc{
&<-a,*<-
Ar-of,*e.\\ tf\
n 

^*.1 
Fll*cz-\?1re

l

:.. : a t, I

.1ST

l
I

t- L
I

l

1

I

-____,_l_
i

I. .-i I

I

i-- ,l

I

t-_-__
L__ -l.
I

i

I



Invoic
ke'

VALLEY FAB & REPAIR, TNC.
TEL: 218-643-6609 FAX: 218-641 -6630
www.valleyfabandrepair.com
8OO BUFFALO AVE SUITE A

Date lnvoice #

6t7 t2021 tl85.l

Bill To

NORTHERN LIGHTS SPECIALIZED LI-C
4'7221 225TH AVE.
STAPLES. MN 56479

Ship To

NORTHERN LIGHTS SPECIALIZED LLC
47221 225Tu LvE.
STAPLES. MN 56479

P,O, N ber Rep Due Date

l tM 736 Due on receipt 6t7 t2021

Quantity Item Code Description Price Each Amount

I

I

I

I
I

47

)
0.5

5-676X (S C474)

5-28tX
6.5-28-l r7 (S 7455)
6.5-3-1371KX (S 5569)
6.5-40-r 9l (S 8524)
N36-30-102

NT,DRIVESIIAITT LAB
IIEAVY DIII'Y - IPC
NT/SHOP ST]PPLIES

t8t0 l/2 RD II-JOINT
5-676X
l8 t0 REG. U-JO|NT 5-281X
r8r0 wEr.D YoKFt 6.5-28-l l7
l8l0 12" slrP YoKE 6.5-3-r37lKX
l8l0 STUB sllAFT t2' 6.5-40-t9t
I8IO DzuVESHAT'T'TUBINC 4.59 X .I80 WALL
PRICED PER INCH
DRIVESTIAFT LABOR
BALANCING DRIVESHAFT . HEAVY DUTY
SHOP S( ]PPI,IES
Sales Tax

Make all checks payable to Valley Fab & Repair
Thank you for your business!!

Payments/Credits $0.00 Balance Due s1,080.76

Terms

66.55 r

75.257
98.497

189.997
t32.587
245.347

160.00
40.00
17.00
55.56

t) t,

189.99
t32.58

5.22

toooI
80.00 |
t?.00 |

6.875"/" I

I

I

I
I

$1.080.76Total



FOIET F0lEf tffiagfntEi
Foloy Equlpment Company ' Foley Powar Solullons

Foley Rental I Foley RlG360 Truck Conters . SITECH

2225 N Ohio Strect, Salina, KS 67401 (785) 825-4661

For credit inquiies on your account, please call (316) 529-5845

RlG36@

-]XUcIcti'TEBSsotD To sHtP ro

INVOICE OATE CUSlOMEF HO CUSTOMEB PJRCHASE ORDER NUMBER STORE Dl! TERMS

08-17-21 L06225 03 T 2ro7
SO,1l'rC ,No DOC DA'E LC i\rt

lz08-13-21 1C 7Z
MOO€r

6NZ7 047 5 r.838883.0
NE

735
TIEM

tNi,/oicE NuMaES

ss0300153s4

0330362

OUAI\tTlTY

C/S EXHAUST LEAK AROUND TURBO.

TRAVEL TO/FROM TRUCK

COMPLAINT: ?RAVEL TO THE REST AREA NORTH OF SALINA
AND RETURN
CAUSE: TRUCK AT REST AREA NORTH OF SALINA
CoRRECTION: LOAD TOOLS AND TRAVEL TO REST AREA
NORTH OF SAIINA ON 81 TIWY. AFTER MAKING REPAIRS
TRAVEL BACK TO THE SHOP UNLOAD TRUCK.

FLD TRAVEL TIME

TOTAL LABOR

SEGMENT 01 TOTAL

AA
UNIT PqICE

PaCE

1
NT,

2558s36

E,/TENSION

sEG.01

280.3s

280.35 *

280.35 T

REMOVE & INSTAI,L TURBOCHARGER

COMPLAINT: TROUBI,E SHOOT AND REPAIR TURBO
CAUSE: IIARDWARE WORKED LOOSE CAUSTNG GASKET TO
BI,OW OUT
CORRECTION: INSPECTED AND FOU}ID TURBOS GASKBT TO
HAVE BLOWN OIIT. TNSPECTED }IARDWARE AND FOUND IT TO
HAVE WORKED LOOSE. REMOVE TURBO HARD}IARE AND CLEEN
GASKET SURFACES. INSPECT AND INSTALL NEW GASKETS
AND HARDWARE ONTO THE TURBO. TORQUED MOI]NTING

At! EOUIPMENT, PAFTS OR SENVICIS PROVIOEO UNOEF THIS INVOICE

II/ERE OO{E IN ACCOADANCE WIIH FOLEY'S STANDAiD TEiMS OF SAL€

ANO NO OTT]EF T€iI/tS ANO CONOI'IONS SHAI.L APPIY UTTESS gGNED

rN wnrrrN6 gY An AuT|{OATZ.EO lEl,,iESEtuTATlVE OF FOIEY. CUSTOMER COPY

PTEAST 8Ei{T TO:

laol E rTlh St.d lldth
h*qt,[St7l{l

AETUNN PARTS AiE SUBJECT TO FOLEY EOUIPMENT COM'ANY RETUFN

POLICY AVAIAAIE AT EACH FOIEY FACILIIY,

IEA 6 OI'I APPNOVE' CHAiGE ACCOUN'g:
.AYMENT IS DI',E OT OA AEFOFE THE 10$ OF THE MON-rH FOIIOW|NG

IN-OICE DATE. ATY PAST DUE AAU CESWIL AE SUBJECT IO INITFESI

CHARG€S AT TxE nAiE Oa 1.5 r PEF MONTH lla', PER Ar*rUMl

NORTI{ERN LIGHTS SPECIAI,IZED
47221 225TH AVE
STAPLES MN 56479-5081

llt''ofi,'f > [ ".*,,"I amourvr - I

lcREprr > 
|



FOET F0hEY n0a8mE8
Foley Equipmenl Company ' Foley Power Solutions

FoleyRenaal' FoleyRlc?doTruckoenters' SITECH

2225 N Ohio Street, Salina, KS 67401 (785) 8254661
For credit inquiries on your account, please call (jl61 529-5845

SHIP TO

RIG36@

- 

TBUC( CINTEBS

SOLD TO

NORTHERN LIGHTS S PECIALI ZED
4722i 225TH AVE
STAPLES MN 55479.5081

INVOICE DATE CUSIOMEF NO dUSIOMEB PUB sroBE Dt'. S^LESMAN TERM6

0e-17 -2L to6225 10703 2
o DO( DA'E PC LC SHIP VIA

08-13-21 lz IC LZ
EOUIPMENT NUMAEFL METER EEAD1NC MACIi io N(

c15 6NZ7 047 5 736 1838883.0
DESCRIPIION UNlT PAICEiTEMo

CE NUMBEN

ss030016354

0330362

AA
TY

}IARDWARE. TNSTALLED NEW OIL LINE GASKETS AND
TORQUED OIL LINES. TEST RAN AND RETI'RNED TO
SERVICE -

TOTAL PARTS

ts 4295
2N - 2'165
2N-2766
126-2742
198-6058

GASKE?
BOLT
LOCK NUT
SEAL
SEAL.INTEGRA

6.96
L0 .22
5.80
9.53
9. 1s

6 .96
40.88
23 .20

9.53
9.15

F/R LBR
LABOR*

PAGE

2
s€o No

2s58536

r) ri

89.72 *

883 .11 T

583.13 *
2!O.26 *
270 .25

1
4
4
1

1

S
S

s
S

*ADDITIONAI,
F'IELD I,ABOR

SEGMENT 02 TOTAI,

KANSAS SALES TAX
SAI,INE CO KS
SALINA KS

2OB OFF A]-L HOSE ASSEMBLIES WITH A MINTMUM OF TWO COUPL]NGS AND BULK
HOSE. OFFER VAIID THROUGH AUGUST 3L, 202L. WE SUPPLY AND INSTALL LO}I,
MEDIUM AND HIGH-PRESSURE HOSES USING PERMANENT OR REUSABLE CRIMP
COUPLINGS. QUICK TURNAROI'ND ON ANY BRAND:

*** INVOICE COPY ***

' DU'E }O 'DE,YS 
.Fftth4 tiiVO.ICE] bAfE

PAY THIS .
AMOUNT >
AMOUNT
CREDIT

N'TUAN PASTS ABE SUBJECT TO FOIEY EOIJIPMENT COMPANY RITUBN

FOIJCf AVAIAALE AT EACH FOIEY FACILIIY,

laht{8 0r{ APPaovED c8aa6E accouNTs:
PAYMT T 15 OUE ON OF AEFORE THE 

'O 
OF THE MONIH FOLIOWING

II{VOICE DATE, ANY PAST CUE BALANCES WITL IE SIJBJECT TO INIEf,EST

CHAFGES A-T IHE AATE OF 1-5'-O PER MONTh (I8Ti PEF ANNUM}

USD

ALT EOUIPMENT- PARTS OF SEFVICES P8OVIDEO UNOEF THIS INVOICE

WEFE OONE IN ACCOFOANCE WITH FOIEY'S STANDAAD TE}IMS OT S IE
AND NO OTHER TEFMS ANO CONOITIONS SHA]"I APPLY UNLESS SIGNEO

I WFIIING BY AN AUTHON]ZTO R€PRESENTAT]VE Of FOLIY. CUSTOMER COPY

ftEASTBEMTTTO:
16ll E.77thSt.d t.nt
turfr City,lS 67147

T

I

I

69.',79 r
16.1t T
L3.42 'r



..Sapp,^* QOga -- lSc,tn-e, QaaA-
VEbXI]ELE IMAIIN u-E

DRIVER: TRUeil( m --tZG
l/[fl] ir [.1]C P[.Arrl[.: : i,i l'ffirE siz[, c0lltfl,AN-rq{

NO?JHIBN LI9HTs

SPTCIAI-IZED LLC

I llGIEll1lU\,L' D
OLloft/iET[lR LL,BE OiL L} itl .:

TRUCK EASED

(.

15I

\

Ol\ a-hc^rrc-e"

-Are,o:' e,
\oa

L{

bra^-,
5/ra 6\\ Clnarr,+e-.

b
Cunnan

--.-1

I

I

ttlrl1t__riltl
l-
1_-. ll

I

I

"=--'-

l

--F- *

I

J
I

f-
---- - -f

l

_l_____,-

I

i1.,1 _t._=.. _,


